
Spiel 1 Spiel 2 Gesamt

Spiel 55 14:53 E 1 HAHN Manfred 58 + 62 = 120 O #

E 2 HINTERREITER Josef 58 + 56 = 114

Spiel 57 15:08 E 3 GASSNER Wolfgang 54 + 54 = 108 #

E 4 ACHLEITNER Christian 69 + 62 = 131 # O O # O

Spiel 59 15:27 E 5 REDL Karl 65 + 67 = 132 O # # #

E 1 HAHN Manfred 57 + 55 = 112

Spiel 61 15:45 E 2 HINTERREITER Josef 58 + 58 = 116 O

E 3 GASSNER Wolfgang 61 + 54 = 115 #

Spiel 63 16:02 E 4 ACHLEITNER Christian 55 + 60 = 115 #

E 5 REDL Karl 67 + 51 = 118 # # #

Spiel 65 16:19 E 1 HAHN Manfred 54 + 57 = 111

E 3 GASSNER Wolfgang 64 + 54 = 118 #

Spiel 67 16:36 E 2 HINTERREITER Josef 55 + 54 = 109

E 4 ACHLEITNER Christian 57 + 55 = 112 O O

Spiel 69 16:55 E 3 GASSNER Wolfgang 51 + 45 = 96 O

E 5 REDL Karl 67 + 65 = 132 O # # #

Spiel 71 17:10 E 4 ACHLEITNER Christian 59 + 68 = 127 #

E 1 HAHN Manfred 55 + 60 = 115 #

Spiel 73 17:30 E 5 REDL Karl 49 + 67 = 116 # #

E 2 HINTERREITER Josef 64 + 52 = 116 O


